LN S

HEfEEE - 1104£128
=1l 2 ENEN RPN TREEE R A\ B RPN
TARTIERCEERE R) 91 2 113
= NEET R (ZEHERGETR) 32 4 36
- EERL 17 3 20
RENELE 2 17 0 17
kibe =B LIEN 54 2 76
EE % 54 6 60
TP TR 21 143 9 152
- BETTEA 0 0 0
TA2EERE | EmER £ 20 0 20
Hil TR A& 117 14 131
BIREaT % 15 3 18
[l P EE 2 R NE I S haE R 206 55 261
GREEHETE A(FRIEEDER) 72 14 86
BHRENT [ EhE T A ke R 378 389 767
BEETE A 421 63 484
(INGIE= =8 F 61 23 84
TARTIZZRCEERE R) 11 2 13
ENEET RA(EERGETR) 0 0 0
BN ifz3=c il . ! 0
RENELE % 11 0 11
HEETE A 69 4 73
EEEN 0 0 0
e 0 0 0
— BT TEA 0 0 0
TA2EERE | mER £ 27 0 27
Hil T A 5 0 5
BIRE MG A 2 0 2
[ FSEE 2 B HE A A NERY 0 25 25
GEEEHA(FREEEDER) 4 0 4
BHRENT [ BhE A SRR R 21 5 26
BEBTE A 25 1 26
IR E T 2 4 0 4
B 107 14 121
ot Ht |k 6 0 6
HAn(th@E A+ - SIHEERETE) 4 4 8
A 1994 682 2676




